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Question Number : 1 Question Id : 5471145501 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gauss law in dielectrics is

FBESnS® FHIHS0SE.



Options :

Question Number : 2 Question Id : 5471145502 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The electric moment of an electric dipole is 10™7 C-m. Find the electric field at a point
on the axis of the dipole at a distance of 0.2m.

1079 C-m D&gS (grsdoBo Ko DEyS S eFo i 0.2m &Erdos® Ko HoHs
5 DS FE SEHED SHFa?
Options :

2250 NC!
1.V

5000 NC!

1250 NC!

4500 NC!

Question Number : 3 Question Id : 5471145503 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The capacity of a spherical capacitor in air is 10uF. What will be its capacity when it is
filled with a liquid of dielectric constant 57

oS Rereet Bardil Gwg) Figio 10UF eonds® s 68 yorodo 5 o (o
& DoBIHH T FHogso Jos?

Options :
10uF

1. &

500uF

S0uF
3.¢

2uF

4. &

Question Number : 4 Question Id : 5471145504 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The expression for energy stored in capacitor if the capacitance C and potential V

2.8 Barde:bs® Qog Hod $88 HoBBesm SFLBT) C oD FLYHS V ©ondHd

Options :
1
—CV?
2
1. v
=CV
2. &%
C
|4
3. %
|4
C
4. %

Question Number : 5 Question Id : 5471145505 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The susceptibility of a dielectric material is 35.4x10'* C/N-m?. The material dielectric
constant is (Permittivity of free space is 8.85<1071% C?/N-m?)
28 B8 D SRHNOB 35.4x107 ErerSiirs-0? & SooEH 578 Jooossm
Erog08 336&&53]& 8.85x1071? éjvw&:"’fésg—glaz
Options :

44.25x<10" C/N-m’

4425210 Erer?/bmg -8n?

1.
22.3x10"* C/N-m’
22.3x1072 Srered?/dorg-n2
2. &
26.55<10"" C/N-m’
26.55%10™"* Sreeo /g -&o?
3. %
35.4x<10" C/N-m?
35.47107™" S ?/domg-80?
4. %

Question Number : 6 Question Id : 5471145506 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation for magnetic field intensity at the centre of the circular shell

$)Tosed EE85m SolEsn 38 e@chImod S8 SHS%H $Sdo8BnEn

Options :

Hcp:q)

@
Ho=—
IIjI2




Question Number : 7 Question Id : 5471145507 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relation between D. E and P 1s?

D. E s8cin P o &g Soaofsmn ddé?

Options :

D = ¢,EP
1.«

D =¢,E+P
2. %

D=E¥% &P
3. %

D= P
4. %

Question Number : 8 Question Id : 5471145508 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The expression for cyclotron frequency is

e DSsdBgERSD $DoEBeesw

Options :
qB
2mm
1.¢
qB
m2
2.
qB
m
3. %
qB
m2m
4. %

Question Number : 9 Question Id : 5471145509 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Faraday’s Law of electromagnetic induction 1s related to
FEC DBRBCHTOE (D8 SrBSD B8 KSo2ofoDHE
Options :

The third law of Newton

é:vée.aﬁ 30T RO
1. ¥

The law of conservation of charge
EREHEIRIRNeWEw

The law of conservation of energy
B8 V&S Dahzyzm

The law of conservation of angular momentum
sSebad (S5gRrRAB0Sm.

Question Number : 10 Question Id : 5471145510 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two conductors having capacitances 61F and 3uF are joined in parallel. The
resultant capacitance of the combination 1s

6UF £00cin 3UF SarE8R) e Both ardrsiined ddroddsnt 018D @ Soans

GwE) PO Br1BG)
Options :
3nF

4.5nF

2. %

9uF
3. ¢

2uF

4. %

Question Number : 11 Question Id : 5471145511 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the total work done in moving a test charge on an equipotential surface
$50¥E) &B0Ee0R (Hiren wld) SED0IEI8 TS Ingo B Jod?
Options :

Maximum
o B@a’a::;

1. &

Minimumn
=4 Kb@s’m

Constant

Eetetive)
(5]
3. %
Zero
oy
4.9 =

Question Number : 12 Question Id : 5471145512 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In CR circuit capacitor time constant is
CR Sochins® 3ardbed e Jorossn

Options :

Tc=RC
1.

R
T:—
ol -

_C

T.

Question Number : 13 Question Id : 5471145513 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The velocity of electromagnetic wave is given by
Ejiﬂagcﬁdﬁj@“%oé SBorre S0 S Sore Gotnod.

Options :

E
= m/s
Ko

1. %
’@ m/s
Eo
2. %
1
—m/s
v €o Ho
3.
JHo Eo M/S
4. %

Question Number : 14 Question Id : 5471145514 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In A.C the direction and magnitude of the current varies
A.C 880¢) GwE) BF bk HBEreo & (Bod DForre Srtoehod.

Options :
randomly

L cﬁwé@%aéom

Periodically

BSmdondorr
2.9

exponentially
Ds8Sore

3.&

do not vary
S8y GOkt

4. %



Question Number : 15 Question Id : 5471145515 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In hysteresis curve the area of the loop gives
SPPORT HESw Jeregsin HAIY sy,
Options :
Heat loss per unit volume
(©5rer ID0IrRINE® e SHKw
1. ¥

Heat gain per unit volume
e $o5D0Hrnsne® By ergidn

2. %

Heat loss per unit area
e JeregEns® ey SghKven

Heat gain per unit area
(e FregEnd® 6F orgsn

Question Number : 16 Question Id : 5471145516 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum rectifying efficiency of a full wave rectifier is
I8, BBon ABHZYO 10K BES
Options :
50%

81%
4.9

Question Number : 17 Question Id : 5471145517 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Two parallel wires are carrying electric currents of equal magnitude and in the same
direction, they exert

Both $EToSE Bries® $HmS HBSreD Ko Dink of BIS HIRH[P® TO

E'é)dﬁé

Options :

No force on each other
a8 PO T8 ol 2ol Hottd

An attractive force on each other

2.8 ol 088 orl8 e8P aedn Gotnob
2.v

A repulsive force on each other
a8 ol 08 PR DBY e 0N Gonod

A rotational torque on each other
2.8 oo HEE oedf (FPoes erG) sotnod

Question Number : 18 Question Id : 5471145518 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

5A current is passing through a coil of 25 tums: the magnetic flux produced inside
the core is 3.0 * 10~ Weber. The self-inductance of the coil is

25 e KOS 8K Sy Kot 5 wodahY DERE (Dardrin HodIRPE A §°6 e

3.0 % 107 308 echImod edardrin 8Eod. & 8K iy dyabo (e
Options :

5+10° Henry

l. %

1010~ Henry



2x10” Henry

15+10° Henry
4.4

Question Number : 19 Question Id : 5471145519 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents Maxwell’s equation for magneto static field

& (Bob TAE° DB Y echFd FEos® SrERS $EBerY) $rN0B6?

Options :

V.B=20
1. v

VXB=0
2. %

VXB =,
3. %

VXB = il
4. %

Question Number : 20 Question Id : 5471145520 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A and B are mputs of a half adder. the carry is given by

5P 20 G Dazeen A 0800 B en evamd, 33565 Qend

Options :
AORB

1. ®

- AANDB

A XORB

A XNORB



Question Number : 21 Question Id : 5471145521 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following molecule does not exhibit a rotational spectrum
Bob BE® (g SEHLH0D GBI e
Options :

H>
1.9

CO
HCT,

HBr

Question Number : 22 Question Id : 5471145522 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In L-S coupling the vectors L and S combine to form a vector J which represents

L-S Hogrdsnd® L Hodn S H8dok 5008 $T) $6F B deddoed.
Options :

Spin momentum
S Bk Srfesn

1. &

Total angular momentum

IwEsn SPRadh (B5RrE0
2.v

Angular momentum
sSdad (555 Srfsw

Orbital momentum
Egps (SSgRrdn



Question Number : 23 Question Id : 5471145523 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The splitting of spectral lines in the presence of intense magnetic field is
BB wabIod FEo SHgos® 85 Tpo e HHoHd?
Options :

Starc effect

ﬁ;ﬁé ESEaNEN
1. %
Inverse Zeeman effect
) D685 £08 (Hgrdo
.
Paschen Back effect
FeerE (SHgrssn
s TONEE BT
Anamolous Zeeman effect
PGS 208 [Perdo
4. %

Question Number : 24 Question Id : 5471145524 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In photo electric effect the stopping potential depends on
5208 g8 (HerSEnd® Fhof FBYCHS &Y P eTdHHE0b.
Options :
Intensity of incident light
HE8508 58

Work function of the material
SorgEn H (Hibahsn

Size of the material
a’:mﬂga’m HBAFLAD



Frequency of the incident light

NS08 %"Eﬁs@éﬁgﬁ’m
4. v

Question Number : 25 Question Id : 5471145525 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A spectral line results from the transition n = 2 to n =1 in the atoms given below
which one of these will produce the shortest wavelength

& (Bob 55000 HEErmHOS® DB S ESor FrgEw Ko 5§ HudeH mk0s, 0=

2000 n=1 5 JoBsoes 28RN

Options :

Hydrogen Atom
EeS H8S5reD

Singly Ionised Helium
2DOAS cHIEE SrdcHm

Doubly ionised Lithium

Eend echIEE DHcHmw
3.

Deuterium Atom
Exd00%HEn HEEE0D)

4. %

Question Number : 26 Question Id : 5471145526 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Raman effect, the scattered lines with frequency greater than the incident

frequency are called

T8 (HgrHos® H83 FHudHg0 Kol AP FeRedHgo DY) VEFDes HoHed

QD00LTSD.

Options :



Rayleigh Lines

20 Spen
1. %
Stokes Lines
:3:;53 Bpen
2. %
Antistokes Lines
o BFE Baren
3. ¥ B
Tyndal Lines
BoreS Typen
4. %

Question Number : 27 Question Id : 5471145527 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total energy of a molecule is
a8 ees) awssw 88

Options :

E=E.+E+E;
1. ¥

E=2E.tEvt+E;

2. &
E=E<tE:;
3. %
E=E.tEv
4. &

Question Number : 28 Question Id : 5471145528 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The uncertainty in position and momentum 1s
PSS0 HobAw (555 Irswes® oY)

Options :



Ax.Ap < h

1. %
R h
X. e
P 8

2. %
AxX.Ap = h
e g

3. %
AxX.Ap = f
X. e D
P 21

4.

Question Number : 29 Question Id : 5471145529 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which theory 1s confirmed by the Davison-Germer experiment
CDIS- 28 (B@rKo oTe O Rrrodo ATBoSHESE.

Options :

Planck’s theory
apol drrodo

1. %
Newton'’s theory
Soegead drpodo

2. % N
Einstein’s theory
0eH8 brpodo

£ [
3. %
de Brogli theory
&-&°A drodo
4.9 i

Question Number : 30 Question Id : 5471145530 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The photo electric current is
08 YRS Bariro WA

Options :



depends on frequency
FPIeI0 B BEREHEK

1. %
independent of intensity
81588° Somodo Thome sotwob.
2. %
independent of frequency
%"E@ﬁ@é&oﬁs Ho0i0 BH0oT &otnod
3. ¢
depend on both intensity and frequency
FPedRgo DB BPHEP GTPEHE S0eod
4. %

Question Number : 31 Question Id : 5471145531 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phase velocity v, and group Velocity v in a wave guide are related to the velocity of
light ¢ as

88 Sifo 1p SHRK0 vy B SPoBRKoL HEy HowogEn
Options :
1'},1'5:(3
1.¢

VpVg=C

Vp
—= constant
Vg

VpT1e= constant

Question Number : 32 Question Id : 5471145532 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eigen Values of Hamiltonian operator are
DG VHS 650605 G@ng) kS Denden



Options :

Complex numbers
el i
@ogg Qdogygen

1. %
Real numbers
TPRE Wogren
2 T *
Orthogonal vectors
oo e $6Fen
3. %
Normalized vectors
ﬁ%:v:é;éejé NoEen
4. %

Question Number : 33 Question Id : 5471145533 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Einstein relation, the energy equivalent of 1 a.m.u is given by
DOQYS pEPodo (@eedo 1 amu & JSrIRS 48 Do Dos?

Options :

941 .5Mev
930 Mev
940 Mev

931.5 Mev
4.

Question Number : 34 Question Id : 5471145534 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The time-energy uncertainty principle 1s
sPe0-d8 @@ @& Aabibo Brdan



Options :

Ap h
Ax 2w
1. %
T h
Vx = —
P 21
2. %
h
At.AE < —
21
3. %
~h
At.AEF = —
4
4.4

Question Number : 35 Question Id : 5471145535 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 4(X. v, z, t) represent the wave function associated with a moving particle then
4(X. y. z)| represents
4(X. Y. . ) @050 o8 E68 Snskin $Sor (Hohsn BOHEY |4(X. V. 2)]> @58

Options :
Intensity
158
1. %
Amplitude
DODE
2. %
Probability density

(Gred®& Fo|es
3. ¥

Energy
s



Question Number : 36 Question Id : 5471145536 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1 Fermi is equal to
1 38 B8 Dk

Options :

10 em
10 °m?

10°m
3.9

10 Pem?

Question Number : 37 Question Id : 5471145537 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Sun releases energy by
Soedgis 48 BABY Dibde Bard
Options :

Nuclear fission

S0l 938
I %
Nuclear attractions
o8 eS8 gren
2. %
Nuclear repulsions
Sol38 DBYgaren
3. %
Nuclear fusion
Bo|5E Bobssm
4.

Question Number : 38 Question Id : 5471145538 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Nuclei having the same number of neutrons but a different mass number are called
SoB%os® SegleoRen Hied éoaséé‘g Go& Fo (B3550°8 Dogmgen DA Gy O

00O 8.

Options :
Isotopes
0Bt Hen

1. %

Isobars
soterBen

2. %

Isotones
0B Sen

3.9

Isotherms
aﬁiﬁsa@w

4. %

Question Number : 39 Question Id : 5471145539 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two particles are emitted in the process of Pair production

2306 6&)8 (DBHS® Bod BS® D Both Bewren Jenddaeaw

Options :

Electron and Neutron
QD[S bahn Kug(ére

1. ®

Meson and proton
S SB[

Electron and positron
QoIFTD SHBA FPR(EF
3.¢¥



Neutron and antineutron
Somglemin 0BG HIBTE ~ioeg| i

4. &

Question Number : 40 Question Id : 5471145540 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Geiger Muller counter is used to detect
BKE - Swpb TPoerd B EHFRHEHDH GOBRAFE.
Options :

a — particles

a —Seeen
1.9

Electrons

Jo|SPaen

e

2. %

Protons

(SBerSoen
3. %

Neutrons

Qoog(€oen
4. %

Question Number : 41 Question Id : 5471145541 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Bravais lattice of a NaCl 1s
ujilatevele E_SQE @30 B

Options :

FCC

$0g So(Sdsm
1.v

BCC
SnSo(Eosdsm

2. %



Trigonal
(BLHS

3.%

Hexagonal
Eaavaita]
4. %

Question Number : 42 Question Id : 5471145542 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The unit cell of a certain type of crystal is defined by three vectors a.b and c¢. The
vectors are mutually perpendicular but a# b= c, then the crystal structure is

&8 DORIEDS H)B80 @wy) (DairnsSnmo TnE) Hord S a.b.c oroe Adgosad
28050 2.8 ooQ&° .58 DG Bo wowore Ganow. (a* b# ¢ ) ®oand e ﬁq}éﬂéo

{ﬁmé& BU“QJ_;E@D
Options :
triclinic

(B3z°go

1. &

orthorhombic

u&r0d)E
2. % «

Tetragonal
iyl

monoclinic
bézﬁaﬁgéw

4. &

Question Number : 43 Question Id : 5471145543 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bragg’s Law 2dsinf =nx. ‘d’ indicates

eeh SeESn 2dsing = nx&® ‘d’ &I BOHTR0A.

Options :



Inter atomic separation

éqj_&é Sodne DFErS®
1.«

Crystal axis separation
BS egre Sy S

2. %
Inter molecular separation
€980 éocﬁé [abite by

3. %

Inter ionic separation
©dirde 5y Srdsn

4. %

Question Number : 44 Question Id : 5471145544 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The atomic packing fraction for a material with body cantered cubic structure is
BCC Nepele &) éwgoéa S$6Se HoHEESe @é&m w08 ?

Options :
0.25

0.68

Question Number : 45 Question Id : 5471145545 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘When the atoms are at equilibrium, then the potential energy between the atoms is
SEErenHen SHTREE® o8, JBuIl eI DE Je° Sotnod.

Options :



Maximum

ﬁBa’&a‘m
1. %
Minimum
é&‘rz’.&a’m
2. ¢
Zero
By
3. %
Infinite
088550
4. %

Question Number : 46 Question Id : 5471145546 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The example for ionic crystal is
OG5S QBEH swrdrde

Options :
Ga As

Gal

Ti10

Nacl
4. ¢

Question Number : 47 Question Id : 5471145547 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Quantum wire is

s%000 36 IO

Options :



0-D structure
0-D R}U“éeao
1. %

1-D structure
- 1-D ﬁjnﬂéeao
2-D structure
2-D Bm&mo

3-D structure
3-D SU‘*{%E'&O

Question Number : 48 Question Id : 5471145548 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s standard form of CNTs
CNTs Gws) (PSS Sorddo
Options :

Carbon Nano Thin films
=S > 83

1 %

Carbon Nano Tubes
&S TS earseS

) s S SN
Carbon Nano Graphene Tubes
S =S (DS )

3. %
Carbide Nano Techniques
S o 88§

4. %

Question Number : 49 Question Id : 5471145549 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



1 Nano meter

1 &hes
Options :

10°m
10°m

10° m
10°m

Question Number : 50 Question Id : 5471145550 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A ferromagnetic material had a magnetic field intensity of 10* A/m. If the susceptibility
of the material at room temperature is 3.7+ 107, calculate Magnetization

28 (6" wahIodo Ews) ©chIed BES 10° A/m eond & wchIpsiogo
To¥) (B3E; dod 1518 PKS & 3.7x107 &F) TP Gw) ©cHIodEBn Jod?

Options :

0 A/m
3.7 Am
370 A/m

37 A/m
4.4

Question Number : 51 Question Id : 5471145551 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The susceptibility of ferromagnetic substance is
E° echImod Sordsn SRHOE
o [5]

Options :

X—
T

2.

Question Number : 52 Question Id : 5471145552 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Molecules are held together in a crystal by

8.8 @,e%éoé's wens)en S8 8ok 8% & 2080 e 8O SO,

Options :
Hydrogen Bond
. P28 oo
Electrostatic Attraction
?}3325 3}65355 Sitet:d
2. %
Vander wall’s Attraction
obard) Sitef:
3.
Dipole Dipole Attraction
. &éfﬁeja'a &gﬁgé @ééqaa

Question Number : 53 Question Id : 5471145553 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Above the Curie temperature, a ferromagnetic substance becomes
e &P E083 % a&fiS 58 B wohares STPo @ AFore H$r5E0k.
Options :

Para magnetic
FT° 9CDHF)0E0

1. v
Diamagnetic
Eair echarpso
2. %
Ferro magnetic
8° wahFedo
3. %
Ferr1 magnetic
6 wchIoso
4. %
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A ferrite core has less Eddy current loss than an iron core because

Frtem 50D §°6 Kol B 56 $%0 A8 KBS $apQy) EOA GoLerIS S°6mo
Options :

Ferrites have high resistance

2Ben 058 G5B SOA Sotrow
1LY

Ferrites are magnetic
2B wcHIT)od €8 EOA Gotrav.

2. &

Ferrites have low permeability
B K B3 BosSDH 0N soeraw.



Ferrites have high hysteresis
(B¢5en iE Bhegsn BOA &t
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The electron pairs in superconductor are called

B[enb éoc‘ﬁéiﬂaé‘s (P 0t RPOETS)

Options :
Cooper pairs
ErHE esobren

Barden pairs
erBaS oten

Josephson pairs
DS 2soten

Meissner pairs
Hr0R06 az0éen
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What 1s the magnetic susceptibility of an ideal superconductor?

88 ©8TPFE0 GnE) @cﬁaﬁ“&pé HEE Qo&?

Options :

1
l. %

Infinite
2. %

0
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The energy required to break a Cooper pair 1s of the energy gap of a
superconductor

ErH6 a3 3)2]1326&0 Dohoeda HIEDD 8 e8arseso cﬁwé& 48 ©odel8 Jod

Goftnoh.
Options :
One half
2.8 Ao
1. %
Equal to
RAE[0
2.9
Twice
B%ooﬁ)
3. %
Thrice
veilaSTeliey)
4. %
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Superconducting transition temperature of mercury is

o) 6 Xr8 Bokoh $OXED GifHS
Options :

T3 K



20K

42K
4. ¢
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If the Miller indices of plane is (hkl). then the plane
2.8 Sosn Web 20838 (hkl) eonds®, & Sedw

Options :

Intersects negative X-axis
206 X - @Fn poloth

1 %
Intersects negative z- axis
wwee Z - ©Fn polothid

2. %

Intersects negative y-axis

awe ¥ - oFsn polohid
3.¢

Intersects positive y-axis

B3y - ©fsw pofiothd
4. %

Question Number : 60 Question Id : 5471145560 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Velocity of gas molecules is inversely proportional to
TPO5n e SKSH B8 S EEHFES® dotwod.
Options :

Density
Elel[ala]



Square root of density

Fro|BE SPSuresn
2.¢ 2

Cube of density

Fro(t5e8 HodS0

3. %
Square of density
Fo(BS HZH0

4. %
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The efficiency of a heat engine working between two temperatures T; and T» with
Ty 1518
agfigen Ty, Tro &5 ( Ti > T2 0ondHid) ST eRahol@sn BES

Options :
T3
n=_—
Ty
l. %
T
S [
Tl
2.
Iy
= —
T;
3. &%
I
n=1——
TZ
4. &
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A reversible heat engine can have 100% efficiency if the temperature of sink is

Eyiie cho(@am H5E 100% % o f%@;{ﬁé



Options :

0K
1.

0°C
100°C

100K
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The enthalpy of unit mass for any system is

2 Xy B8 (DHkren (550788 G0t wogrd)

Options :
H=U+PV+S
l. %
H=U+PV-S§
2. %
H=U+PV
3.¢¥
H=U-PV+5§
4. %
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A gas behaves an ideal gas at
&8 PO 2 8 BB ©BG) FAHT (HBH08
Options :

High pressure and high temperature
©fE HEIHD HOAD ©HE SAKS 5



Very low pressure and high temperature
oo 2EIH0 DO ©5E PR 5

2.
High pressure and low temperature
©HE HEdHD bk we) BRPREE S
3. %
Low pressure an low temperature
oo HESH0 Hoakn wey GRPHES 5
4. %
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If T1 & T> represent the temperatures of heat source and sink, then the efficiency of
engine 1s

T1 &0 Tren efareo S8k H0E G@nE) ePHS SrdR, soasS @)

BES d08?
Options :
/k
14—
T,
l. %
T.
=
2. % .
T
i
Iy
3. %
T.
7
4.9 .
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Pyrometers are instruments used for measuring

PORLEOHD GIBrA0N EIY eorrd

Options :
Pressure
SHE%S5D
1. %
Volume
NS 3B85T°ER 0
2. %
Density
Jo|5e
3. %

High temperature

g e
4. ¢ € %L
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Nodal points are a pair of conjugate points on the axis which have a relative angular
magnification

Both Hodhor]) Hohpen IS HoHBIS®, =& S°had eBgSHw.

Options :

Unity

}ciTet=Pnbv)
1.9

Zero
%vaéga’m

Infinity
50850

3.&



Ten times

FTateloon
4. %
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In Bose- Einstein statistics particles are called

FR-0SQS Keodin s ™ eorRd.

Options :
mMeso1s
DoFdoen

Fermions

&6@@5@3

Bosons

FPaPReD

3.

Nucleons
eé:v;%d:v@
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First law of thermos dynamics gives the relation between the specific heats Cp and Cy
as

SN8E R Add Dabivo (Hsedo D8 835 Cp b Cy © gt 2050 20&?
8t & e g Lp o

Options :
¢, —C,=2R
1. %
o
GGy =
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Spherical abberation is decreased by using these

FPRcsh DHER) HB ooe SRosSDy)

Options :

Thin Plano convex lens

Hendd Jdhde Hogrses s
1. ¥

Thin concave lens
HendSd Hersed Beossm

Thick concave lens

\ BEID 3Yérsed BéoBaw
. ®

Thick convex lens
KEIB Brozrsed BB

Question Number : 71 Question Id : 5471145571 Display Question Number : Yes Is Question Mandatory : No Calculator
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In a Fresnel’s biprism the expression for fringe width 1s
BS5S &55%&’)33&55 SEE Ien) So 2888w

Options :
D

2d
1.
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In Newton’s rings experiment the diameter of 10 dark fringe is 0.433cm. lens radius
of curvature is 70 cm, then the wavelength of the incident light is

35608 Sodire DREKENS® 105 88 Socho BwE) Fgdsn 0.433 0.8, Bestn

BoZH(E T 70 0.0 ©onSsS® HES 208 Sor B Jos?

Options :

6695A
1.9

6900 A
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In Michelson interferometer to displace 200 interference fringes the mirror is to be

moved a distance of 0.00589 cm. Then the wavelength of light s
DESIS J;BEGen SreHEod® 200 5BEBen éé@o ﬁgaﬁoééo pdelnfaghalWate ol

0.00589 R0.2» &rdo es8dSed 53 ©ohHE® adERACNS 008 S¥orf FoR
B0808



Options :
5895
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Which one of the following thermodynamic quantities is not a static function
& (Bob &8s Hosrered® OB JYEHHAbo s
Options :

Gibb’s free energy
Ad) eDE 48

Enthalphy
So@@o}

Entropy
Dolgs®2

Work

SRy
4.9
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Malus law 1s
SroR Gegsn
Options :

L =D
L%



Ip = I, sin?%6

2. %

I =1, cos"@
3.

I; = I;% sin®0
4. %
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A= 2ut cos r is known as
A=2ut cosrd Q) Seoel.
Options :

Sine law
DR ACHw

Cosine law

58 QoHsosn

2. © &
Tangent law

. EPSBE0e] AoHSoSn

Malus law
Sren NoHHSD
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The lateral chromatic aberration can be reduced by
PER SZ DHGTR & (Bod DFore SHoSHyc
Options :

by using Plano-convex lens

Rude Bogrsed B65RA) Gad@rAod
1. %



by combining a converging and diverging lens
RoBoR DL ®HNled SHSTON BRNOTEUOWED xo°

Increasing the dispersive power of lens
Eer¥o Gn¥) DD FHOTRY) Dohr

by using convex lens
Bo0grsed 56H5°R) 61@rA0)
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The Brewster angle is the angle of
% 8od Q&8 6 8%505% HooGoDS HTons
Options :

Refraction
SBe55S0

1. ®

Reflection
e leh]e)

incidence
sS850

diffraction
E}géo
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Among these. liquid laser is
HAS® 55 Sadd

Options :



diode Laser

E@BrE Bexdd
1. %
He-Ne Laser
0P DOSrS Baxthd
2. %
Ruby Laser
Eed) Basthd
3. %
Dye Laser
Q B
4.9
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Step-Index fibres are
= B -
R aoﬁ% 53_3::53 TR
Options :
transverse mode fibres

D&% I8 b

1 %
multimode fibres only
2550 8 Dby S
2. %
single. but not multimode
28 =R ady IrE pad) o
3. %
single mode
DE el
4. v
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Mathematical expression for Stokes theorem is

KBS 55888e06° RPE) Bopossn

Options :

§ aa-[[faa

1. %
.tf A.di’.:jf curlA.ds
c S
2.
jg A.d1=jj divA.ds
(i s
3. %
j€ A.d;‘.zjf curlA.dv
c 5
4. %
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A rocket burns 0.02 kg of fuel per second ejecting it as a gas with velocity of 10,000
m/s. What force does the gas exert on the rocket?

2.8 ToBES EHS 0.02 8.7 (555 T°8 Ko wosSo Brso Fod oD wiEEFS

PO S 10,000 m/s eandS® alriErdarding o°8tTp Senlf T 200 Jod?
Options :

2N

2000N
20N

200N
L



Question Number : 83 Question Id : 5471145583 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The precessional velocity of a symmetric top is independent of

5D FonBEn s HBEHBe $Kkn HAP erddEd.

Options :
Mass distribution

(85550°8 DesBea
1. %

Angular momentum
sPch (RS

2. %

Angle

SBeadn
3.9

Momentum

(B5re50
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If external torque is Zero
ey ¢°8) Dend &redgo 008
Options :
The angular momentum is zero

S5ah (55 Sricw g

1. &

The angular momentum decreases

S (a5 Sk S

2. &



The angular momentum is constant

8°Bad (585 Srido dBore dotwod
3.¢¥

The angular momentum 1s increases

sbdadh (555 Srisw DBorhS0s
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The relation between three elastic moduli is

ST ?g@ rﬁ;éé oS E.")Jéé OB0%E0

Options :
. 9nk
n+3k
1.
. 9nk
Y=
n+k
2. %
,  9nk
n+2k
3. &%
. onk
n+4k
4. %
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In an inelastic collision
SREPS whsirdos®
Options :
linear momentum is not conserved but K.E 1s conserved

TR (55 B0 wPBo =R KB=¥E Yo

1. &



linear momentum is conserved but K.E is not conserved

ThHad (555 Ifo pBo SR KBl eRBo
2.v

both linear momentum and K_E are conserved

BRAD (855 Sifo SO KBwEE Torr Joob

3. %

both linear momentum & K.E are not conserved

BRH (555 Sfo B0 KBe¥8 Dot ©JToE

4. &
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The ratio of lateral strain to linear strain 1s known as
FEaH 5B, T EBe Dk AYHED DHotrd?

Options :
Poisson’s ratio
arowern DB
1.+
Molecular ratio

@0 8

Absolute ratio

o

Soiry D48

Thermal ratio

&g D58

4. &
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The frequency of oscillations in a simple harmonic oscillator is expressed as

SEFTTHE Grodin DHrdSEnss SESemLn

Options :

2wy m
2. ¢

V=L VmEk
2w

=
V=—m32
21
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The condition for critical damping in terms of force constant ‘k’ ., mass ‘m” and
damping constant ‘R’ for damped harmonic oscillator is

DOJTZ0ED kT (B850,8 ‘m” s0daio ©5%E Joroshn R’ Ddor @t

STPTE)E EFeEsn Go8), KVo&H) ©HBE HLDKBDHE SPHOND VBDOFD

Options :
k  4m?
m R?
1. %
k R?
m 4m?



k _ 4m?

m RZ
3. %

m __ R?

k m2
4. ®
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In torsional pendulum the time period of oscillation is

P53S Sosing® Some HBabEn

Options :
o |E
c

1.¥
2nVIC

2. ®
i
2m—
i
3. %
c
21T |—
I
4. %
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The Fourier series

4 : o EER 1
‘sz[smmH—g sin3ot + EsmSmt + ---] represents a

8006 (FD Y—[sinet % sin3mt +%sf?15mt + -] SoeD0R Sordm

m

Options :



Sine wave

28 SBoro
1. %
Saw-tooth wave
B0 By SBorism
2. %
Square wave
$5eH8|rseE SBorED
3.
Triangular wave
(Bghezesed S0
4. %

Question Number : 92 Question Id : 5471145592 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the type of waveform for a function f(t)=1+§ for -% <t < 0and
f{t)=1- = for 0 < t < —

T 2
f(t)=1+i: % % < t < 0Z08c% f(t)=1-
SoE) S0l Srsn

% é:.oc:rqg od(BEado

Options :

Triangular
@geeao

1.
saw-tooth
505y D)
Square
Iafateluby



l'ECTElI]gUl‘Ell'

BESSB(d50
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The kinetic energy and potential energy of a particle exciting simple harmonic
motion will be equal when displacement (amplitude = a) is

éé%’ﬁﬂt}ﬁé&é Seodos® Bwmo @Dé@_ 888 HBasw %@%_%E’_)J S&rHo @ond el Bodd

DBDE (B0 DHBLS = a ®ony)

Options :
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The Q-factor of an oscillator is 500. Find its initial energy if its amplitude is 0.01m.
(m®>=100 N/m)
a8 Eotin Q-pF% 500. oo H68 0.01m b wandHH (@FBoss 4§ Elisn
(m®*=100 N/m)
Options :
10107 Joules
10107 e

1. &



2.0x<107 Joules
2.0<107 &eny

3.0<1073 Joules

3.0<1073 &°en)

5.0<107 Joules

5.0<107 &en)
4.
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A string vibrates according to the equation v = 5 sin (?) cos(40mxt), where X,y are in
cms and ‘t’ 1s seconds. Then the distance between two successive modes is
% 81 y =5 sin() cos(40mr) 5uEsein HSEED SoboHHB. S X. ¥
o0 0.5, 08 Hocw ‘T VBt $HHY. waws, Bod BHED DossEe
S5 SEam
Options :

1cm
3cm

5cm
4 cm
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The ratio of transverse force & transverse velocity of a string is equal to

2.8 8K G D5 48 Hdon IE%H SKow LY

Options :



resistance

alaimi=te)

1. &

capacitance
Ehy; ?\JES{J

impedance

©58%%0

3. ¢

quality factor
Teagd SPBE0
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When a particle executing SHM passes through its extreme position, it has

SEGTTHE Sos06® SEHFB0 S Lerds

Options :
Max K.E & Min P.E

ﬁa@ 1848 & ééﬁ)z’ﬁ %E& 38
1. %

Max P.E & Max K.E

ﬁag ?g@%_% & ﬁ&é fatReL]

Min K.E & Max P.E

» éﬁjg 1838 & ﬁa@ %53 €8
Min P.E & Max K.E
émé %53 €8 & ﬁ&g 1858
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Which of the following causes acoustical grating
& (Bod S® 0 DIEDH oGm0

Options :
magnetic waves

@dﬁ:ﬁﬁ&oé SBorren

electric waves

3}63355 SBorren

magnetostriction effect

©CHIY0S D (Dgredsn

ultrasonic waves

@e‘.’%ﬂﬁ;ﬁ] SBOMPeD
4.
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The crystal which produces ultrasonic waves by Piezo electric effect
28 JoBE Herso oo B8GHedH a8)8 Voo GBEK
Options :
Diamond

Slesso

1. &

Quartz
&
2.
Silicon

aOsesn
3. %



Germanium

@é{gﬁoﬁ;m

4. %
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Sounds of frequency higher than 20.000 Hz, which are inaudible to normal human

ear, are called

Foeoes SHS 3D DH0E 20000 Ejbﬁm ol QBN Hepgo He Sepo

Q0T ?
Options :
Noise

DO
]

Ultrasonic waves

@@éﬁﬁ] SSormen
2.¢

Infrasonic waves

©e) GHR SYorren

Supersonic waves

oess6 PQE S8orren



